(4) #14x5/8" SHEET
¢/ METAL SCRews

{4) 1/4"x3/4" SELF
TAPPING SCREWS

14 GA. END HINGE 14 GA.

INTERMEDIATE HINGE

GALVANIZED, BAKED—ON PRIMER
AND A BAKED-ON POLYESTER PAINTED TOP COAT.

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE
IMPACT RESISTANT REQUIREMENT FOR WINDEORNE DEBRIS

CLOPAY MODEL 3200 (24 GA MIN EXT SKIN), CLOPAY MODEL 3220 (20 GA MIN EXT SKIN) REW DATE DESCRIPTION
HOLMES MODEL 240, 240G (24 GA MIN EXT SKIN) _ .. oo L ivces on 10| 06/2013 REMOVED GLAZING OPTION.
/Euc?ons el 2" THICK 11| 08/2016 REMOVED WIND SPEED TABLE.
STOP MOULDING BY DOOR
R SILICOME FILLED CHAMMEL SEPARATES oot oo e oo e
— FRONT AND BACK SKIN OF DDOR /////////// INSTALLER (TO SUIT)
=—————— e 18 GA. MIN. GALV. STEEL EMD STILE
= (END STILES HELD BY HINGE SCREWS) SLIDE BOLT
1.95" THICK, 1§ DENSITY )) E?EE LGk ENGBES
EXPANDED POLYSTYRENE AMB_CONFIGURATION T BTG
= = = | FOAM INSULATION LAMINATED LOCK ON
= v TO BOTH EXTERIOR AND 12 GA. GALV. STEEL TRACK BRACKETS = EACH SIDE
) INTERIOR SKINS. FASTENED TO JAMEB WITH | I | OF DOOR.
n 5;"15":(‘!-—5,-"'8" LJ"-G SCHEW INSIEE SUDE EG T
il (FOR STEEL JAMBS: USE CONTINUOUS
n N A ANGLE TRACK OR REVERSE ANGLE TRACK) L R STEEE ';‘;ﬁf-w*}'{’i‘f
= = = = 2" GALV. STEEL TRACK FASTENED TO EACH #14x5/8" SHEET METAL SCREWS.
12 GA. GALV. STEEL 12 GA. GALV. STEEL TRACK BRACKETS.
TOP ROLLER BRACKET. T 7/16" PUSHNUT INSTALLED ON ROLLER
TRACK ATTACHED TO EACH BRACKE
EACH BRACKET ATTACHED WITH TWO 1){4" DIA. RIVETS SHAFT FOR UNRESTRICTED QPERATION.
A W/4 #14X5/8" SHEET OR ONE 1/4" BOLT & NUT
_—————————————————————+ \/X\ METAL SCREWS. 14 GA, GALV. STEEL ROLLER HINGE
5————  H —— 34— | FASTENED TO END STILES W/(4) EACH
S A #14x5/8" SHEET METAL SCREWS.
k TONGUE AND GROOVE JOINTS, 2" 10 BALL SHORT STEM STEEL ROLLER WITH
STEEL OR NYLON TIRE
T A /\ A Iy z 14 GA. GALV. STEEL ROLLER (END) w2 HORIZONTAL TRACK SUPPORT BY
% I=! = - = iy HINGE., EACH FASTEMED TO 5 DOOR INSTALLER (TQ SUIT)
; : , END STILES W/(4) #14x5/8"
. , / SHEET METAL SCREWS AND W/(4) ) =
@ —!PL 1/4"3/4" SELF TAPPING SCREWS. 7
) el 13 GA. GALV. STEEL FLAG BRACKET.
2 = = = = ek € SECTION A—A TABLE 1 EACH FASTENED TO WOOD JAMB WITH
= = = = = TOTAL U—BARS| = (3) 5/16"x1-5/8" WOOD LAG SCREW,
T DOOR HEIGHT _ |REQUIRED 5
3" TALL x 20 GA. GALV. STEEL 453" 10 60" el
\ U-BAR. TWO U—BARS ON EVERY 63" 10 B0 6 T IRACK CONFIGURATION LHR TOP BRACKET
Iy N Ay 0DD MUMBERED SECTION (STARTING B3 T0 1001 & 3 DOUBLE HORIZONTAL
= H - = FROM THE BOTTOM) AND ONE U-Bar 103 TO 1201 9 o] TRACK
ON EVERY EVEN NUMBERED SECTION. [123_TO 140 1 11 & i
(SEE TABLE 1 FOR TOTAL U—BARS 14'3" 10 160°] 12 [ 2" GALY. STEEL TRACK,
v,'\ REQUIRED). U—-BARS ATTACHED W/(2) 163 TO 180 14 i TRACK THICKMESS: .080°
W4 1/4"x3/4" SELF TAPPING SCREW MAX. SECTION HEIGHT: 24" & TRACK ATTACHED TO TRACK
= = = AT EACH HINGE LOCATION. & TRACK BRACKETS WITH LOW HEADROOM OPTION
- - = T B TWO 1/4” DIA. RIVETS.
I \ 27 GA. STEEL INTERIOR SKIN WITH Q _— J;\
g GALVANIZED, BAKED-OM PRIMER NOTE: DOUBLE TRACK LOW = i TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
I W AND A BAKED—ON POLYESTER PAINTED  HEADROOM, HI-LIFT TRACK, & . EACH TRACK BRACKET FASTENED TO WOOD
ﬂ A | =5 B TOF COAT. FOLLOW—-THE—ROOQF TRACK, © 24 OT‘EP JAMB WITH ONE 5/16"x1-5/8" WOOD LAG SCREW.
— AND VERTICAL LIFT TRACK (TvP.) (FOR STEEL JAMBS: USE CONTINUOUS OR
ARE AVAILABLE OPTIONS. 3" 2 o REVERSE ANGLE TRACK).
TRACK ALSO AVAILABLE. 16, | JAMB ATTACHMEMNT
| PREPARATION OF JAMBS BY OTHERS.
3_”,'2;.'_1 - ) MASONRY OPEMINGS (2 OPTIONS)
5 . 1) 1/4"x1-3/4" MIN. EMBED TAPCON CONCRETE ANCHOR.
START AT 7" FROM BOTTOM AND 14" O.C,
Lock_LocaTion 12 GA, GALV. STEEL BOTTOM BRACKET. 2) 3/8°x1-1/2" MIN. EMBED SLEEVE ANCHOR BOLT.
e A {BOTH SIDES) ATTACHED WITH (4} #14x5/8" SHEET u h
METAL SCREWS START AT 7" FROM BOTTOM AND 16" Q.C.
i A e h DESIGN ENGIMEER: MARK WESTERFIELD, P.E. STEEL OPEMINGS (2 COPTIONS):
: ALUMINUM EXTRUSION FLORIDA P.E. #48495, NC P.E. #23B32, TEXAS P.E. #91513 1) 1/8"1" LONG FILLET WELD (E60XX ELECTRODE
INSIDE ELEVATION & VINYL WEATHERSTRIP. DESIGN LOADS: +40.0 PSF & -—40.0 PSF MIN.). WELD TO BE LOCATED VERTICALLY OM
24 GA. MIN. STEEL EXTERIOR SKIN WITH TEST LOADS: +60.0 PSF & -B0.0 PSF ANGLE AT 24" CENTER AMD TACK WELD TOE OF

ANGLE AT SAME SPACING.
2) 1/4"x3/4" SELF TAPPING SCREW.
START AT 7" FROM BOTTOM AND 22" O.C.

WOOD FRAME OPEMINGS (1 OPTIOM):

1) 3/8" ¥ 1-1/2" MIN, EMBED LAG SCREW W/ 1-1/8"

THE SUPPORTING STRUCTURAL ELEMENTS ARE TO BE

REGIONS (REF. CHAPTER 16 FBC/IBC)

DESIGMED BY THE BUILDING ARCHITECT OR EMNGIMEER

Dia, WASHER. MIN. 24" O.C.

e Clopay

& o Building Products

e
TR E‘tq -~

g o 5

e il Company

QOF RECORD FOR_THE LOADS SHOWN OMN THIS DREAWING.

HANUF ACTURING PRODUCT CODL: -

HPC':E[:UE']‘]S] EoiFa47 umm\::fémms ME?IEI::E:':R saz;:a’OHH
CLOPAY BUILDING PRODUCTS COMPANY o :
8585 DUKE BLVD. 8/28,96 DESCRIPTION:
MASON, OH 45040 DRAWN BY: COMM 2" EPS: +40/-40 PSF DESIGM
(513) 770 — 4800 — n*“ DRAWING NUMBER:

Kl 1

Clopey Corporolicn Ml Rights Reserved. B 1 D 1 6?8

&



